
,uz;lhk; jtizg; guPl;ir - 2025 - juk; 10 

Gs;spapLk; jpl;lk;  

gFjp A 

1&  
40

100
 × 30 000 000 =   12000 

 

2&  
1

2
 × 2 ×  

22

7
 × 14 = 44 𝑐𝑚 

 

  

3& 24𝑥2𝑦 

 

4& 𝐵𝐶 = 𝑂𝑅  ^ g . g . g & my;yJ 𝐵𝐴̂𝐶 = 𝐺𝑃̂𝑅  ^ g .Nfh .g  & 

 

5& 2𝑥 = 6 

 𝑥 = 3     

  

6&  

 

 

 

 

7&  53 = 125 

 

8&  6.3 

 

9&  1100 −  700 =  400 

 

 

10&  ( 𝑥 + 6 )( 𝑥 + 2 )   

 

 

11&  
60

20
 × 35 =  1050 

12&  𝑄𝑅̂𝑃 =  400   
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 𝑃𝑄̂𝑅 =  1000 

 

13&  
5−3

4−0
=  

2

4
=  

1

2
 

 

 

14&  𝑆𝑅̂𝑃 =  200 

 

15&  𝑥 = 7    fyda  𝑥 = −3     

 

16&  
8 ×6

4
= 12 

 

 

17&  ( 𝐴 ∪ 𝐵 ) = 𝑛(𝐴) + 𝑛(𝐵) − 𝑛(𝐴 ∩ 𝐵) 

  9 = 7 + 4 − 𝑛(𝐴 ∩ 𝐵) 

  𝑛(𝐴 ∩ 𝐵) = 2 

 

18&  5 × 4 = 20𝑐𝑚2 

 

19&  200 × 3 = 600𝑘𝑚  

 

 
600

4
= 150 𝑘𝑚ℎ−1 

 

20&  

        

1100 + 𝑎 = 125 

      𝑎 = 15 

 

21& 
4

2𝑎
+

3

2𝑎
=  

7

2𝑎
 

 

 

22& 35 × 4 = 140 𝑐𝑚2 

 

1250 𝑎 

550 

550  fyda 
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23& 𝐴𝐷 = 𝐵𝐶  fyda 𝐴𝐵//𝐷𝐶   

 

24& (2𝑥 − 5)(2𝑥 + 5) 

 

25&  

 

 

 

 

 

 

gFjp 𝐵  

 

01&  

¸& 
3

8
  

¸¸&  
3

8
 ×  

1

3
 =  

1

8
 

 

 

¸¸¸& 
3

8
 ×  

2

3
 =  

1

4
     fyda   

5

8
+  

1

8
 =  

6

8
 

     b;sßh 
4

 8
=  

1

4
 

  

 
1

4
        25 000 

   nkhj;jg; gzk;  = 25 000 × 4 = 100 000 

¸¹&   

 
9

100
 × 100 000 = 9000 my;yJ 

109

100
 × 100 000 = 109 000 

  

nkhj;jg; gzk; = 109 000 
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02&  

¸&  
1

4
 × 2 ×

22

7
 × 14 = 22 𝑐𝑚 

 

 

¸¸&  22 + 14 + 14 + 22 + 20 = 92𝑐𝑚 

 

 

¸¸¸& 
1

4
 ×

22

7
 × 14 × 14 = 154 𝑐𝑚2 

 

 

¸¹&  154 × 2 = 308 

 
1

2
 × 14 × 14 = 98 

 308 + 98 = 406 𝑐𝑚2 

 

03&  

¸& 12 × 10 = 120 

 

  

¸¸& 12 × 4 = 48 

 120 − 48 = 72 

 
72

9
= 8 

 Nkyjpf ehl;fs; 2 

 

¸¹& 2500 × 12 × 10 = 300 000 

 

 

¹& 56 000 × 5 = 280 000 

 ,yhgk; &gh 20 000 
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04& 

 ¸&  𝜀 =  {10,11,12,13,14,15,16,17,18,19,20} 

 𝐴 =  {10,12,14,16,18,20} 

 𝐵 =  {12,15,18} 

 

¸¸&   

 

 

 

 

¸¸¸&  (𝐴 ∪ 𝐵)/ =  {11,13,17,19}  

 (𝐴 ∪ 𝐵)/ = ™ 10 ,w;Fk; 20 ,w;Fk; ,ilg;gl;l Kjd;ik vz;fs; š 

 

¸¹&  ™𝑥: 𝑥 Kjd;ik vz;fs; 10 < 𝑥 < 20š  

 

05&  ¸&  
1

4
 

 ¸¸&  900 × 4 = 3600 

 

 ¸¸¸& 90 + 60 = 150 

180 − 150 = 210 

210

3
= 700 

¸¹& 120 gf;fq;fis nfhz;l Gj;jfq;fspd; vz;zpf;if= 70 × 2 × 10 = 1400 

 my;yJ 70 × 2 × 10 × 200 ×
115

100
 

 

1400 × 200 = 280 000     

      = 322 000 

    

  280 000  ×
15

100
= 42 000  

 

  280 000 + 42 000 = 322 000 

   

   

3 
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 fzpjk; gFjp ¸¸  

 

01&  1 425 000 − 500 000 = 925 000 

 tUkhd tup  

4

100
× 500 000 = 20 000 

8

100
× 425 000 = 34 000 

jngWkjp Nru; tup 

 
9

100
× 40 000 = 3 600 

nkhj;j tupg;gzk; = 20 000 + 34 000 + 3 600 = 57 600 

kPjpg; gzk;  = 1 425 000 − 57 600 = 1 367 400 

 

 

 

02& 𝑎)   ¸& −4 

  ¸¸ 

 

 

 

 

 

 

 

 

 

 

 

 

4 

 

𝑏) ¸& ,opTg; ngWkhdk; −4 " jpUk;gw; Gs;sp (0, −4 ) 

 ¸¸ − 1.4   "   + 1.4  

1 

2 

2 

2 

1 

1 1 

10 

 

𝑥 

𝑦 

1 

3 

4 

2 

2 

2 6 



 ¸¸¸& −3 < 𝑥 < −1.4 

03 ¸&  500 𝑥 + 700 𝑦 = 142 000 

            𝑥 −  𝑦 = 20  

 

5 𝑥 + 7 𝑦 = 1 420 

          5𝑥 − 5 𝑦 = 1 000 

   

   12 𝑦 = 1 320 

   𝑦 =
1 320

12
 

   𝑦 = 110 

 

𝑦 = 110   ,y; gpujpapLf " 

              𝑥 −  110 = 20 

         𝑥 = 130 

 rk;gh ney; 1kg ,d; tpiy &. 130  , ehL ney; 1kg ,d; tpiy &. 110  

 

 

¸¸&  rk;gh ney; kw;Wk; ehL ney; vd;gtw;wpd; epiw 𝑎 vd;f  

110 𝑎 + 130 𝑎 = 12 000 

 

 240 𝑎 = 12 000 

𝑎 = 50 

xU ney; Kl;ilapd; jpzpT= 50 𝑘𝑔 

 

 

04& 

¸&  (𝑎 + 𝑏)2 =  𝑎2 + 2𝑎𝑏 +  𝑏2 

¸¸& (2𝑎 + 3𝑏)2 =  (2𝑎)2 + (2)(2𝑎)(3𝑏) +  (3𝑏)2 

 (2𝑎 + 3𝑏)2 =  4𝑎2 + 12𝑎𝑏 +  9𝑏2 

¸¸¸&  (103)2 =  (100 + 3)2 

  =  (100)2  + (2)(100)(3) + (3)2 

  = 10 000 + 600 + 9 

10 
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3 4 − 
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  = 10 609 

¸¹&  5𝑎2 − 125        = 5(𝑎2 − 25) 

   = 5 ( 𝑎 − 5)( 𝑎 + 5) 

 

05&  

¸& A  ,ypUe;J B ,w;fhd Ntfk;  

 
45

30
× 60 = 90 𝑘𝑚ℎ−1 

 

 

¸¸&  B ,ypUe;J A  ,w;fhd Ntfk;  

 
30

60
× 60 = 30 𝑘𝑚ℎ−1 

 

 A  ,ypUe;J B ,w;fhd Ntfk;  :    B ,ypUe;J A  ,w;fhd Ntfk;  

      90  ∶          30 

  3  ∶          1 

¸¸¸& 

 

 

¸¹& gazj;jpd; ruhrup Ntfk; =  
120

150
× 60 = 48 𝑘𝑚ℎ−1 

 

 

 

10 
3 

1 1 2 

1 

3 1 

1 

2 

2 1 3 
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06&  ¸&  𝑥2 + 7𝑥 − 18         = 0 

 𝑥2 + 9𝑥 − 2𝑥 − 18 = 0 

 (𝑥 + 9 )(𝑥 − 2 )       = 0 

 𝑥 + 9 = 0  my;yJ  𝑥 − 2 = 0 

 𝑥 =  −9 my;yJ 𝑥 =  2 

 

¸¸&   
2

(𝑎+2)
+

3

(𝑎2−4)
 

 
2

(𝑎+2)
+

3

(𝑎−2)(𝑎+2)
 

 
2(𝑎−2)

(𝑎+2)(𝑎−2)
+

3

(𝑎−2)(𝑎+2)
 

 
2𝑎−4

(𝑎+2)(𝑎−2)
+

3

(𝑎−2)(𝑎+2)
 

 
2𝑎−1)

(𝑎+2)(𝑎−2)
 

 

07&  

 ¸& lg 75  + lg 4 − lg 3 =  lg
75×4

3
     

    = lg 100 

    = 2 

 ¸¸&  

  log3 𝑥 + log3 6  =  log3 9 + log3 2 

   log3 6𝑥  =  log3 9 × 2 

        6𝑥 =    18    

         𝑥 =    3 

 

¸¸¸&  

 lg (
12.5 ×7.864

3.25
) 

 lg 12.5 + lg 7.864 − lg 3.25 

 1.0969 + 0.8956 − 0.5119 

 1.4806 

 30.24 
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08& 𝑎) 

 

 

 

 

juT : Kf;Nfhzk; 𝐴𝐵𝐶 ,y; 𝐵𝐶 ia 𝐷 tiu ePl;Lf  

epWt Ntz;baJ ( 𝐴𝐵̂𝐶 + 𝐵𝐴̂𝐶 = 𝐴𝐶̂𝐷  

mikg;G (𝐴𝐵 ,w;F rkhe;jukhf 𝐶 Clhf NfhL 𝐶𝐸 ia 𝐸 tiu ePl;Lf  

epWty; : 𝐴𝐵̂𝐶 = 𝐸𝐶̂𝐷 ^ xj;j Nfhzk; & 

 𝐵𝐴̂𝐶 =  𝐴𝐶̂𝐸 ^ xd;W tpl;l Nfhzk; & 

 𝐴𝐵̂𝐶 + 𝐵𝐴̂𝐶 = 𝐸𝐶̂𝐷 +  𝐴𝐶̂𝐸 ^ ntspg;gil cz;ik & 

 𝐴𝐵̂𝐶 + 𝐵𝐴̂𝐶 =  𝐴𝐶̂𝐷 

 

𝑏)   

 

 

 

 

 

 

  

  𝐴𝐵̂𝐹 =  𝐴𝐸̂𝐹 ^ juT  & 

  𝐷𝐹̂𝐵  = 𝐶𝐹̂𝐸 ^ Fj;njjpu; Nfhzq;fs; & 

𝐴𝐵̂𝐹 + 𝐷𝐹̂𝐵 = 𝐴𝐷̂𝐹  ^ xU Kf;Nfhzj;jpd; xU gf;fj;ij ePl;Ltjd; %yk; 
cUthFk; Gwf; Nfhzk;> ,uz;L mfj;njjpu; 
Nfhzq;fspd; $l;Lj;njhiff;Fr; rkk;& 

𝐴𝐸̂𝐹 + 𝐶𝐹̂𝐸 = 𝐴𝐶̂𝐺 ^ xU Kf;Nfhzj;jpd; xU gf;fj;ij ePl;Ltjd; %yk; 
cUthFk; Gwf; Nfhzk;> ,uz;L mfj;njjpu; 
Nfhzq;fspd; $l;Lj;njhiff;Fr; rkk;  & 

𝐴𝐷̂𝐹 =  𝐴𝐶̂𝐺 ^ ntspg;gil cz;ik & 

𝐴𝐶̂𝐺 = 𝐴𝐺𝐶 ^ 𝐴𝐶 = 𝐴𝐺 & 

𝐴𝐷̂𝐹 =  𝐴𝐺𝐶  
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09& ¸&  𝑄𝑃̂𝑆 + 𝑅𝑄̂𝑃 =  1800   

 𝑄𝑃̂𝑆           =  1200    

𝑃𝑇̂𝑆 + 𝑃𝑆̂𝑇 =  1200 ^ xU Kf;Nfhzj;jpd; xU gf;fj;ij ePl;Ltjd; %yk; cUthFk; 
Gwf; Nfhzk;> ,uz;L mfj;njjpu; Nfhzq;fspd; 
$l;Lj;njhiff;Fr; rkk;  & 

  𝑃𝑇̂𝑆 =   1200 − 550 

  𝑃𝑇̂𝑆 =   650 

 

¸¸&  𝑃𝑅̂𝑆 =  𝑄𝑃̂𝑅  ^ xd;W tpl;l Nfhzk;)   & 

 𝑃𝑅̂𝑆 =  650 

 

¸¸¸& 𝑅𝑃̂𝑆 = 𝑃𝑆̂𝑇 =  550 

 xd;W tpl;l Nfhzq;fs; 

 ∴   𝑅𝑃 // 𝑆𝑇 

    𝑅𝑆 // 𝑃𝑇 ^ juT & 

  ∴ 𝑃𝑅𝑆𝑇 ,izfuk;   ^ vjpu; gf;fq;fs; rkhe;juk; & 

  

 

10& ¸&  

 

 

 

 

 

¸¸& Kf;Nfhzq;fs; 𝐵𝐸𝑇 , 𝑇𝑋𝐷  vd;gtw;wpy; 

 𝐸𝑇   =  𝑇𝑋 ^ juT &  

 𝐸𝐵̂𝑇   =  𝑇𝐷̂𝑋 ^ xd;W tpl;l Nfhzk;   & 

 𝐵𝐸̂𝑇   =  𝑇𝑋̂𝐷 ^ xd;W tpl;l Nfhzk;    & 

 𝐵𝐸𝑇 ≡  𝑇𝑋𝐷 (Nfh . Nfh .g &  
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¸¸¸& 𝐵𝐸 =  𝑋𝐷 ^ xUq;fpirAk; Kf;Nfhzpapd; xj;j gf;fq;fs; rkd; & 

 𝐴𝑋 = 𝑋𝐷 ^ juT &  

 ∴  𝐵𝐸 =  𝐴𝑋 

 𝐵𝐸// 𝐴𝑋 (juT &  

 ∴ 𝐴𝐵𝐸𝑋 ,izfuk;  ^ vjpu;gf;fq;fs; rkDk; rke;jhuKk; & 

 

¸¹&  𝐴𝐵 = 𝑋𝐸 ^ vjpu; gf;fq;fs; rkhe;juk;  & 

 𝑋𝐸 = 2𝑋𝑇 ^𝑇,  eLg;Gs;sp & 

 ∴  𝐴𝐵 =  2𝑋𝑇 

 ∴  𝐴𝐵 ∶   𝑋𝑇 

      2 ∶  1 

 

 

 

11 &  ¸&  𝐹𝑂̂𝐸 = 300 ^ vjpu;Nfhzq;fs;  & 

𝑂𝐸̂𝐷 =  300 +  700  ^ xU Kf;Nfhzj;jpd; xU gf;fj;ij ePl;Ltjd; %yk; 
cUthFk; Gwf; Nfhzk;> ,uz;L mfj;njjpu; 
Nfhzq;fspd; $l;Lj;njhiff;Fr; rkk;  & 

  𝑂𝐸̂𝐷 =  1000 

 

 

¸¸& 𝐹𝐸̂𝑂    =  800 

 𝐸𝑂̂𝐷  = 𝐸𝐷̂𝑂 (𝐸𝑂 = 𝐸𝐷) 

 𝐸𝑂̂𝐷  =  400 

 

¸¸¸&  𝑂𝐺𝐸 =   900 ^ rkgf;f Kf;Nfhzp xd;wpd; cr;rpapypUe;J vjpu;gf;fj;jpd; eLg;Gs;spf;F         
tiuag;gl;l  Nfhl;bd; eLg;Gs;sp & 

  
 

¸¹&  𝑂𝐸̂𝐺 =   𝐷𝐸̂𝐺 =  500 

 ∴   𝑂𝐶̂𝐺 =  500 

∴   𝐶𝑂̂𝐺 =  400 
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12&  ¸& 

 

 

 

 

 

 

 

¸¸&  15 + 18 = 33 

 40 − 33 = 7 

 

¸¸¸&  
15

3
= 5 

 gujehl;bak; kl;Lk; gbf;Fk; khztu;fs; vz;zpf;if  = 5  

   ,uz;L eldq;fisAk; gbf;Fk; khztu;fs; vz;zpf;if = 10  

 

 

¸¹&  fz;ba eldk; gbf;Fk; khztu;fs; vz;zpf;if 

= 18 + 10 = 28 

      
28

40
 

gujehl;bak; gbf;Fk; 
khztu;fs; 

fz;ba eldk; 
gbf;Fk; khztu;fs; 
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